
Conversation 1 

C = Customer     W = Waiter 

C: Can I have a coffee, please? 

W: With milk? 

C: No thanks. Black. 

W: Sugar? 

C: Yes, please. One. 

W: One black coffee with sugar! That’s four euros. 

Conversation 2 

C = Customer     W = Waiter 

C: Can I have two coffees, please? 

W: Espresso or cappuccino? 

C: Oh, espresso, please. 

W: Anything else? 

C: No thanks. How much is that? 

W: That’s five euros fifty. 

Conversation 3 

C = Customer     W = Waiter 

W: Hi. 

C: Hi. Can I have an egg sandwich, please? 

W: White or brown bread? 

C: Oh, brown bread, please. 

W: Anything else? 

C: Yeah, can I have one of those cakes? 

W: These ones? 

C: No, the chocolate ones. 

W: Anything to drink? 

C: Yes, a mineral water, please. How much is that? 

W: That’s four euros for the sandwich, three for the cake and two for the mineral 

water. That’s nine euros. 

C: Here you are. 



Conversation 4 

C = Customer     W = Waiter 

C: Can I have a mineral water, please? 

W: Still or sparkling? 

C: Sparkling, please. 

W: Anything else? 

C: No, thank you. How much is that? 

W: That’s three euros. 

 

 

Conversation 1 

C = Customer     W = Waiter 

C: How much are those cakes?  

W: These ones?  

C: Yeah.  

W: They're one eighty. 

Conversation 2 

C = Customer     W = Waiter 

C: How much is that? 

W: That’s four euros fifteen. 

C: Fifty? 

W: No, fifteen. 

Conversation 3 

C = Customer     W = Waiter 

C: Is this sandwich three euros? 

W: No, it’s two euros ninety. 

C: Here you are. 

W:  Thanks. 

Conversation 4 

C = Customer     W = Waiter 

W: So that’s two coffees and a mineral water. 

C: That’s right. 



W: So that’s six thirty-five. 

Conversation 5 

C = Customer     W = Waiter 

W: That’s eleven euros forty. 

C: Here you are. 

W: No, forty, not fourteen.  

C: Oh. Sorry. 

 


